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(1) EEWE
BAMEERL [,000 |, 800 -800
BEAMESIAE |,000 [,800 -800
SRR 200 200 0
I EEEZ R R 200 200 0
SHaE 2,600,000 2,600,000 0
RETHMAE 2,600,000 2,600,000 0
HEEIVZS 450,000 440,000 10,000
THESE N 250,000 240,000 10,000
A EEEEEING 200,000 200,000 0
SEEBE S 5,878,700 5,991,800 -113,100
SWMAeREENE 10,000 10,000 0
THEERHN S 466,700 469, 100 -2, 400
THE FENR SRS E 5,402,000 5,512,700 -110,700
THEEs 330,000 330,000 0
=ik 0 0 0
BE - gERAaThaEd 330,000 330,000 0
I ZS 550, 100 550, 1 00 0
ZEHR 100 100 0
T 550,000 550, 000 0
Gesinssst (A) ] 9,810,000 9,913,900 -103,900
(2) BEEH
EE 3 8,308,824 8,469,824 ~161,000
RERSEE 20,000 20,000 0
B 2,000 2,000 0
X N=Fizk s 18,000 18,000 0
W 74,000 74,000 0
EHE 0 0 0
RS 50,000 50,000 0
£I5E 4,000 4,000 0
EHE 10,000 10,000 0
ENRISIAE 5,000 5,000 0
BIEERE 5,000 5,000 0
IOYINEES 558,000 518,000 40,000
=yt 8,000 8,000 0




ENRISLIAE 50,000 50,000 0
BIEERE 200,000 200,000 0
Z&itE 300,000 260,000 40,000
GEGTEAEEES 130,000 150,000 -20,000
EIRIEAE 10,000 10,000 0
HFEmE 100,000 120,000 -20,000
BEiN=EiEk 20,000 20,000 0
RETEERE 656,000 656,000 0
THFEmE 250,000 250,000 0
XHEEE 200,000 200,000 0
& BEE 200,000 200,000 0
RBRY 6,000 6,000 0
HEEUEE 830,000 880,000 -50,000
=58 100,000 100,000 0
e 300,000 300,000 0
HFEmE 200,000 250,000 -50,000
& EE 130,000 130,000 0
e 100,000 100,000 0
SEXESE 150,000 200,000 -50, 000
£ = Bois | 150,000 200,000 -50,000
mEFa , 484,000 430,000 54,000
ERfe(TER 70,000 70,000 0
BN EEE 405,000 405,000 0
EREEE 700,000 700,000 0
RETBE 270,000 225,000 45,000
BEEHRE 180,000 225,000 -45,000
HMENE L1, 124 1,124 0
HERE 360,000 450,000 -70,000
ENRISIAE 225,000 270,000 -45,000
EfEr 648,000 648,000 0
(EE 18,000 18,000 0
LTINS 2,700 2,700 0
=itE 0 0 0
1) —2#4 216,000 216,000 0
ST 63,000 63,000 0
M B 18,000 18,000 0
EEHE ,504,536 , 463,536 41,000
Eo 500,000 450,000 50,000
HENEE 0 0 0
BT 276,000 270,000 6,000
REHS T E M 10,000 10,000 0




fRHEEE 45,000 45,000 0
FHERE 100,000 100,000 0
BB 30,000 25,000 5,000
BIEERE 20,000 25,000 -5,000
RMEHE |,236 [,236 0
EIERE 40,000 50,000 -10,000
FIRISYAE 25,000 30,000 -5,000
EEs 72,000 72,000 0
RB&# 2,000 2,000 0
FEANER 300 300 0
BEIN=FE 300,000 300,000 0
EHH 0 0 0
SHNERE 50,000 50,000 0
=228 24,000 24,000 0
S 7,000 7,000 0
M E 2,000 2,000 0

[FE&R B) 1] 9,813,360 9,933,360 -120,000

[HERREEAZE (A-B) ] -3,360 -19,460 16,100

2. EENEROW

(1) fEEsMNE 0 0 0
CELea 0 0 0

(2) fEEnEm 0 0 0

oL 0 0 0

(4R &I B 0 0 0

(45 B2 B — AR IE kB e ) ~3,360 19,460 16,100
EAR. BRERUTER 0 0 0

[ZH— AR IER I EEIE AR ] -3,360 -19,460 16,100

[—RRIERE ESEES] 20,224,821 20,297,263 ~72,442

[— ek R E] 20,221,461 20,277,803 -56,342
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— R ERHEADIRER
— MR IERBENDIRE -5,402,000 -5,512,700 [10,700

(248 L R 1) 0 0 0

UEeE s EERS] 0 0 0

(e T ES B AR 5] 0 0 0

I IEREEHRES 20,221,461 20,277,803 -56,342




